



$$7.) \begin{array}{cccc} (x) & (y) & (z) & \# \\ 2 & -1 & 1 & 9 \\ 1 & 1 & 1 & 4 \\ -3 & -2 & -1 & -13 \end{array}$$

$$D = \begin{vmatrix} 2 & -1 & 1 \\ 1 & 1 & 1 \\ -3 & -2 & -1 \end{vmatrix} = 2 \begin{vmatrix} 1 & 1 \\ -2 & -1 \end{vmatrix} - 1 \begin{vmatrix} -1 & 1 \\ -2 & -1 \end{vmatrix} + -3 \begin{vmatrix} -1 & 1 \\ 1 & 1 \end{vmatrix}$$

$$2(-1+2) - 1(1+2) - 3(-1-1)$$

$$2 - 3 + 6 = 5$$

$$D_x = \begin{vmatrix} 9 & -1 & 1 \\ 4 & 1 & 1 \\ -13 & -2 & -1 \end{vmatrix} = 9 \begin{vmatrix} 1 & 1 \\ -2 & -1 \end{vmatrix} - 4 \begin{vmatrix} -1 & 1 \\ -2 & -1 \end{vmatrix} + -13 \begin{vmatrix} -1 & 1 \\ 1 & 1 \end{vmatrix}$$

$$9(-1+2) - 4(1+2) - 13(-1-1)$$

$$9 - 12 + 26 = 23$$

$$D_y = \begin{vmatrix} 2 & 9 & 1 \\ 1 & 4 & 1 \\ -3 & -13 & -1 \end{vmatrix} = 2 \begin{vmatrix} 4 & 1 \\ -13 & -1 \end{vmatrix} - 1 \begin{vmatrix} 9 & 1 \\ -13 & -1 \end{vmatrix} + -3 \begin{vmatrix} 9 & 1 \\ 4 & 1 \end{vmatrix}$$

$$2(-4+13) - 1(-9+13) - 3(9-4)$$

$$18 - 4 - 15 = -1$$

$$D_z = \begin{vmatrix} 2 & -1 & 9 \\ 1 & 1 & 4 \\ -3 & -2 & -13 \end{vmatrix} = 2 \begin{vmatrix} 1 & 4 \\ -2 & -13 \end{vmatrix} - 1 \begin{vmatrix} -1 & 9 \\ -2 & -13 \end{vmatrix} + -3 \begin{vmatrix} -1 & 9 \\ 1 & 4 \end{vmatrix}$$

$$= 2(-13+8) - 1(13+18) - 3(-4-9)$$

$$-10 - 31 + 39 = -2$$

$$x = \frac{D_x}{D} \quad y = \frac{D_y}{D} \quad z = \frac{D_z}{D}$$

$$x = \frac{23}{5} \quad y = \frac{-1}{5} \quad z = \frac{-2}{5}$$

$$\boxed{\left( \frac{23}{5}, \frac{-1}{5}, \frac{-2}{5} \right)}$$

Check for #7

$$2\left(\frac{23}{5}\right) - \left(\frac{-1}{5}\right) + \left(\frac{-2}{5}\right) = 9 \quad \checkmark$$

$$\frac{23}{5} - \frac{1}{5} - \frac{2}{5} = 4 \quad \checkmark$$

$$-3\left(\frac{23}{5}\right) - 2\left(\frac{-1}{5}\right) - \left(\frac{-2}{5}\right) = -13 \quad \checkmark$$

$$8.) \quad \begin{aligned} 2x + 5y &= 2 \\ -x - 3y &= -2 \end{aligned}$$

$$\begin{array}{ccc} 2 & 5 & 2 \\ -1 & -3 & -2 \end{array}$$

$$\begin{array}{ccc} 1 & 2 & 0 \\ -1 & -3 & -2 \end{array} \quad (R_2 + R_1 \rightarrow R_1)$$

$$\begin{array}{ccc} 1 & 2 & 0 \\ 0 & -1 & -2 \end{array} \quad (R_2 + R_1 \rightarrow R_2)$$

$$\begin{array}{ccc} 1 & 2 & 0 \\ 0 & 1 & 2 \end{array} \quad (-1 \cdot R_2 \rightarrow R_2)$$

$$\begin{array}{ccc} 1 & 0 & -4 \\ 0 & 1 & 2 \end{array} \quad (-2 \cdot R_2 + R_1 \rightarrow R_1)$$

$$\begin{array}{ccc} -2(0 & 1 & 2) \\ 0 & -2 & -4 \\ \hline 1 & 2 & 0 \\ \hline 1 & 0 & -4 \end{array}$$

$$x = -4 \quad y = 2$$

$$\boxed{(-4, 2)}$$

Check:

$$\begin{aligned} 2(-4) + 5(2) &\stackrel{?}{=} 2 \\ -8 + 10 &= 2 \\ &\checkmark \end{aligned}$$

$$\begin{aligned} -(-4) - 3(2) &\stackrel{?}{=} -2 \\ 4 - 6 &= -2 \\ &\checkmark \end{aligned}$$